BHARAT COKING COAL LIMITED

(A Subsidiary of Coal India Limited) Office of the General Manager, Katras Area P.O. Sijua Distt. Dhanbad.

Ref. No. BCCL/GM/IV/Civil/ Quotation/11-12/3208

Dated: 15.09.2011

QUOTATION NOTICE

Sealed QUOTATION is invited in percentage rate above/below basis in single part from experienced and bonafide resourceful civil contractors for the following civil works :-

<u>Sl.</u>	Nature of Job & location	Estimated Cost	Earnest	<u>Time of</u>
<u>No.</u>			Money	Completion
1	Construction of drinking water storage tank at SPC workshop under Katras Area.	₹37,879.39	₹379/-	15 Days
2	Making rack/shelves and repairing of record room in attendance section of SPC under Katras Area-IV.	₹20,901.54	₹209/-	15 Days

Date and time of receipt/opening of Quotation

- a) The quotation will be received on **30.09.2011** from 10.00A.M. to 3.00 P.M. in tender box kept at
 - i) Office of Asstt.Commandant,CISF. Camp,Angarpathra
 - ii) CISF Post, near Koyala Bhawan gate,Koyala Nagar, BCCL,Dhanbad in Box marked Katras Area.
 - iii) CISF Post, Sijua Area V in tender box marked Katras Area,
 - iv) CISF Post, Govindpur Area-III in tender box marked Katras Area,.
- b) The quotations received will be opened on **03.10.2011** at 4.00 P.M. in the office of the Area Civil Engineer, Katras Area.

All the materials and equipments required for this work will be responsibility of the contractors.

Contractors have to abide by the Labour regulation /abolition Act. Govt. of India adopted by BCCL time to time.

Conditional quotations will be out-right rejected.

Late or delayed quotations will not be accepted.

Quotations will not be considered by postal means.

Bill of Quantity and site conditions or the other documents such as general terms & conditions, general specifications and credentials, responsibility of the contractors, additional safety measures etc. can be seen at the office of the undersigned which will be applicable to the contract. Bill of quantity also can be seen in the company website <u>www.bccl.gov.in</u> during time period.

contd...pg2

Requisite Earnest Money is to be deposited in cash with the Cashier/ Dy.Manager (Finance)/Sr. F.O., Katras Area or A/c Payee Demand Draft by local nationalized bank in favour of BHARAT COKING COAL LIMITED payable at Dhanbad and proper money receipt should be enclosed with the quotations.

Income Tax clearance certificate /PAN.No. & VAT is to be submitted.

BCCL Management reserves its right to reject any or all of the quotations received or to split up and distribute the work between two or more contractors for which no reasons will be given what so ever.

Area Civil Engineer Katras Area-IV

Copy to :-

- 1) General Manager, Katras Area,
- 2) G.M.(Civil), BCCL. Koyla Nagar, Dhanbad,
- 3) General Manager (Admn.), BCCL. Koyla Bhawan,
- 4) Sr.E.S. to C.V.O., Koyla Bhawan, BCCL.,
- 5) All Area CGM/GM's Areas & Projects of BCCL.
- 6) Addl.G.M./SO(Mining)/AFM/APM/AM(Plg.)/AM(Safety)/PM(Admn.),,Katras Area
- 7) All Project Officer's, Collys. Of Katras Area.
- 8) All SE(Civil), under Katras Area
- 9) Sr.F.O./Cashier, Katras Area
- 10) Notice Board, Katras Area
- 11) LEO©, Katrasgarh.
- 12) The Secretary, Chhatabad Malkera Adarsh Shramik Sahayog Samiti Ltd.,5 No. Chhatabad, At- Malkera Road, P.O. Katrasgarh, Dhanbad.
- 13) Asstt. Commandant,CISF Camp Angarpathra- with a request to depute Security personnel during the time period of receiving of tender near tender box and sealing the box at the time mentioned in NIT.
- 14) Commandant, CISF In-charge, Koyla Bhawwan BCCL Dhanbad -for necessary arrangement at his end.
- 15) Inspector Incharge, CISF Post, Govindpur Area-III.
- 16) Inspector Incharge, CISF Post, Sijua Area-V.
- 17) Manager(System), EDP,BCCL, Katras Area –along with a copy of NIT & BOQ.+ a C.D. against the above mentioned works for publication of the same in company website.
- 18) Tender File.

<u>Bill of Quantity for Construction of drinking water storage tank at</u> <u>SPC workshop under Katras Area.</u>

Sl. No.	Item	Quantity	Unit	Rate	Amount
1	Earth work in excavation by mechanical means (Hydraulic excavator) / manual means over areas (exceeding 30 cm in depth, 1.5 sqm in width as well as 10 sqm on plan) including disposal of excavated earth lead up to 50 m and lift up to 1.5 m disposed earth to be leveled and neatly dressed. (All kinds of soils).	cum	6.93	101.85	705.82
2	Providing and laying cement concrete of specified grade excluding the cost of centering and shuttering in all works up to plinth level : 1:4:8 (1cement : 4coarse sand : 8graded stone aggregates 40 mm nominal size).	cum	1.15	2449.00	2816.35
3	Brick work with FPS bricks of class designation 50 in foundation and plinth using cement mortar 1:6 (1cement : 6coarse sand).	cum	10.62	2007.00	21314.34
4	12mm cement plaster finished with a floating coat of neat cement of mix: 1:4 (1cement : 4fine sand).	sqm	20.00	97.90	1958.00
5	12mm cement plaster of mix: 1:6 (1cement : 6fine sand).	sqm	20.40	67.65	1380.06
6	25mm thick cement concrete 1:2:4	sqm	6.25	141.11	881.93
7	Providing hoisting and fixing up to floor five level pre-cast reinforced cement concrete work in string courses, bands, copings, bed plates, anchor blocks, plain window	cum	1.02	4882.25	4979.89

				Total (₹)	37,879.39
8	Tor steel Reinforcement for RCC work including straightening, cutting, bending, binding and placing in position complete.	kg	90.00	42.70	3843.00
	sills and the likes including the cost of required centering and shuttering finishing smooth with 6mm thick cement plaster 1:3 (1cement: 3fine sand) on exposed surfaces but excluding the cost of reinforcement with 1:2:4 (1cement : 2coarse sand : 4graded stone aggregates 20mm nominal size).				

Bill of Quantity for Making rack/shelves and repairing of record room in attendance section of SPC under Katras Area-IV.

Sl. No.	Item	Quantity	Unit	Rate	Amount
1	Brick work with FPS bricks of class designation 50 in superstructure using cement mortar 1:6 (1cement : 6coarse sand).	cum	2.16	2315.50	5001.48
2	Reinforced cement concrete work in beams suspended floors, roofs having slope up to 15 degrees, landings and balconies, chhajjas, shelves, lintels, bands, plain window sills, staircases and spiral staircases up to floor five level excluding the cost of centering, shuttering, finishing and reinforcement: 1:2:4 (1cement : 2coarse sand : 4graded stone aggregates 20 mm nominal size).	cum	1.07	3673.85	3931.01
3	Reinforcement for RCC work including straightening, cutting, bending, binding and placing in position complete: Hot rolled deformed bars.	kg	75.00	42.70	3202.50
4	Centering and shuttering including strutting, propping etc. and removal of form for shelves (cast in situ).	sqm	13.77	187.35	2579.80
5	6mm cement plaster of mix 1:3 (1cement : 3 fine sand).	sqm	20.50	62.15	1274.07
6	12mm cement plaster of mix: 1:6 (1cement : 6fine sand).	sqm	36.89	67.65	2495.60
7	Steel work in riveted, bolted or welded in built up sections, trusses and framed work including cutting, hoisting, fixing in position	kg	18.00	46.35	834.30

				Total (₹)	20,901.54
	of neat cement of mix: 1:4 (1cement : 4fine sand).				
	finished with a floating coat				
9	12mm cement plaster	sqm	14.05	97.90	1375.49
	work (two or more coats).				
8	White washing with lime to give an even shade: Old	sqm	50.56	4.10	207.29
	and applying a priming coat of approved steel primer all complete.				